BF 100m REEGT#E)
[148] ( -3.6 m)
10 3]4039 K & #4 (32 K- = HR) 11. 42
2[ 6146511 H 5 #E 3 (fEBEfERE-HE) 11. 54
3[ 7] 2284 - ek 2 (HEKZH-T#) 11.78
40 8] 2354k 5L A1 CHPERH-fEM) 11.92
50 5]1117 EA& kzg  (F-w74MAC-HR) 11.92
6[ 1140901 % )52 (5% K)11.96
[ 214496/ 4k B A5 (B # K) Ri5
[ 41163285 K Gk K6 (B fF =2 K) RiG
[3%#8) ( -4.4 m)
10 2]46547% ¥ & i 2 GEWefiRE-5%5)12.18
20 4] 1064 HL i i 2 (FTRUhF489)12. 20
3L 11 757% [ BE2 (FA&s/hgtH)12.23
A0 7] 464 )RS 3 (HRRIALF) 12, 53
5[ 8] 4687 K3 (Bl FE+H)12.58
[ 3135624 1 #f £ (& ) Ri5
[ 61465257 H K u§ 3 (Ekflixs mE) Ri5

[548] ( -6.1 m)
10 8J1783)~ A JRE 3 (B K 7)12.44
20 6]46714% 1 16 t 3 (Emcfizm %) 12. 50
3[ 5]3304%k L [ 3 ChAfRmET-HR)12. 52
A[ 3130631 i # R (B K [ 1) 12. 84
50 2] 14K & #i K3 (FRVNFHEF)12.90
6[ 7] 612930 K2 (= N H)12.96
[ 1]19258n R & K2 (Bh 5 2 R)RIF
[ 411546/ H #hith 4 Bh 5 = K) RiH
(7#2] ( -2.3 m)
1[0 4] 4645 BEIKB2 BrBELid)12.24
20 21120540 k0 W& A 2 Cir B2 — ) 12.51
3[ 5] 7671 x KIKE 2 (F+ & /)12, 62
A7 713325 K H wi A 3 CAfh3mEH-#x)12. 70
5[ 1] 37780 43 Bk b & #)12.75
6 6] 3231 % KULJp 2 (RRIERY-5%)12. 84
70 8] 363 A5 &t 3 B (b & H)13.27
[ 3112125 | FoAsf 2 Cor e — W) Ri5
[9#8]) ( -3.1 m)
10 7] 4515 H K52 (B L REH)12.52
2[ 4] 61451 ®H E3 (= W H)12.63
3[ 2] 6045 Il fE3 (= W H)12.72
4[ 8] 450K R H W53 (BrEELAHR)12.71
5[ 5] 402t 34 4B Af 3 Cor )8 9 +)12.79
6[ 1] 7645k H ¥ KES 2 (B4 /N EHH)12.99
1[0 6] 608= H 43 (5 W H)13.01
8[ 3]1381#/& #F B3 (Ul & ™H)14.14

[2#8] (  -5.3 m)

10 4148431 & 7 AM1 GEiAB kR £r) 11. 87
2[ 1146748 A& iz =} 2 (fEwciira-%%) 11,95
3[ 7] 936 WH A% 3 (AR 4 1)11.98
4 5] 217TH0F9RF R B 3 CRERZH- %4 12. 02
5[ 3142247 ¢ I /M1 (EBASERE%%) 12. 03
6[ 61466642 A £ K3 (ke %%)12.16
70 81 61T\ #EE3 (& N H)12.38
8[ 2] 42755 iR 5323 (RAMRES)12.56

[4%8]) ( -5.8 m)
10 3] 359/ 3k His3 (f &2 = H)12.16
20 8] 1M4AR 5 1B &k 3 (FK[A-#H£)12. 28
3[ 7] 375K B 223 (P 1h & H)12.41
47 6] 810 & KE AN (Palette-Him)12.50
5[ 5]405574 #F S 4 (57 K - £ E#) 12, 71
6[ 4] 309%% 55 4RIk 3 (FAIERET -5E)12. 83
[ 1] 326k Js == #h 3 (RRIEREY -5 ) KI5
[ 211669 B9 fF—B1 (M £ KA C)Ri5
[6%H] ( -5.0 m)
10 1] NM3=F HEH 3 FriR/hEHEH)12.57
20 5]3b41% i A3 (BELAE-®HE)12.79
3[ 4] 205fE R F &2 G B — H)12.92
AL 8121 i FE-2 Cir JBE — H1)12.94
50 6] 362/H ZZ#f3 (B (b & H)12.98
6 7] 17T A 43 Jllp EEAH)13.10
102113965 5 Hm 2463 Ol & H)13.23
8[ 3] 3284 H Kpk2 (F& 1 & H)13.40

[848] ( -6.0 m)
10 5] 476k (b A 3 (lkE R rE )12, 53
2[ 8] 626/)5)11  H a3 CHrEER -5 %) 12. 60
3[ 6] 72188 #h & 2 (b B d1)12.76
4[ 11270445 K G2 A 2 Cor JEE BN =) 13. 08
5[0 2]1744% i M7 2 (LI R A)13.09
6[ 71 403N W 43 CGor FE P9 1) 13. 60
[ 312222/ H M 2 (Fn St &) Ri5
[ 4] 221/ J & GUERELRR R Ri5
[1048]) ( -5.2 m)
1[0 5] 516/ 1 B 2 GHELT 55%)12. 75
20 4] 15585 K i K2 Bl & — 91)12.90
3L 1] 772% o FHIK 1 (FF&/E# ) 12.96
41 2112024 (L &k 2 Gor 2 — ") 12.99
5[ 8] 160 o Fe A2 Gl 8 — f)13.17
6[ 6] 6271 2« K& # 3 CHEEN -#Hi£)13.35
70 3] 250%k J&  ®w2 OK £ ® H)13.46
8[ 7] 4674 MW f&=F3 (Bl £ H1)13.63



(11#8] ¢ 5.5 m)

104] MOFHMES 2 (B dbEsT)12. 64
20 11 29 #0481 3 GRARILIERLIH) 12, 98
30 8] 50511 & Jel 3 CHrAETH-%r%)13.00
41 212705k P A+ 2 G FE i 1) 13. 28
5[ 5] d424&% [Ewk2 Ok X H1)13.42
60 6] 413 A B2 O FE U H1)13.47
T0 71 261H &5 &Ik 3 (B8 & # ) 13. 81
8 3] 414F84R & -3 Cor % U +)14.20

(138 (  -42 m)

106135534 H 2 (BtRm-%%)12.95
20 5] 3765 A FiE2 (] & = 11)13.20
3[ 4] 181F MW E 3 (& RHH)13.23
41 3]12341E [ — ¥ 1 CFr % — )13.31
5[ 8] 119 pr H AP2 (R—% v 2 5x) 13. 48
60 711224 % St 2 Cor B — 9)13.77
T0 2] 21kR%& Z8%63 (kb B ) 13. 88
80 1] 41075 4% B =F 3 Cor % U $)14.03

[1548]) ( 6.5 m)
1[0 2] 507 AL 572 (AR 6 8 H)13.27
2[ 6] 3748  #E =F2 (8 §2 = #)13.53
3[ 5]33144& ik = B 2 (Afdki T 3UR) 13. 58
A0 17 1911\ f& 82 2 (AR E#ERF)13. 88
5[ 3] 1610~ HARZEMR 3 (B8 » &% F)13.96
6[ 8] 215K & FsE 3 (& #k db #)14.00
107 4B PEAS3 (57 H H)14.24
[ 4] 4621 0 K FI3 (FHE I F) Ri5

(1748 (6.5 m)

10 6] 23R KHE 2 Cor 2 — ") 13.75
2[ 3] 935%F K %ES (AP R4 1) 13. 87
3L6] 1ML g 32 (B, HFET)14.17
47 8] 3943 BEZE2 Ol Ky tf)14.28
5[ 4] 2027 & MR 2 (& W H #%)14.29
60 2] ST L6 Ot FE IK*E #)14.29
1011 7T2d AK¥2 (F W H)14.45
8L 7] 323 &+ HA2 Ok (h & )14.50

(1948 ¢ -7.4 m)
10 4] 1545 7k B8 6 3 CEMIH-5%)13. 82
20 6] I51f@ )& KA 1 (FF 2/t ) 13.92
3[ 2] A402f A 43 G AFH R 11)14.18
41 3] 468718 A2 (WIEE5 M H)14.37
5[0 5] MO/ 17Kk 3 (FHRVNFHEH) 14,57
60 8] 24 dE AhFn2 (a (L FF ) 14.62
T0 11 335%% i #h 28 2 (RAIEET-5 %) 14. 64
[ 7] 22%F  #t R3 (e 1h m ) Rig

(1248 (  -3.6 m)
1[0 6] 358tk =3 (7] /2 =
2[ 3130084 N {5

4 4] 369leJJ RKzE3 Bk L&
5[ 1] 467&
6 8]1226%

70 2] TI0F & &2 (&

[14%8]) ( -6.8 m)
10 8] 367 A&
2[ 2] 8507 )1
3 7] 325= K
41 3] 84K [H]
5[ 4] 428 #+
6[ 5] 4065= ik
[ 1] 368114 il A2 (] &2 —
[ 6] 1/hH
[1648]) ( -2.0 m)

10 5133158 & fk — BB 2 CRfhmE - 5m) 13.
ZR/NEEH) 13,
3[ 8] 162L— 77> 2 (IR EFAH)13.
41 4] 2265F H FE 3 (S W F )18
5[ 6] 468% (L1 #=} 1 (& L Ly H)13.
3 (W m -5 E) 13,
70 3] 9324 & %‘“ﬁ:?) (AR R4 1) 13.
8[ 7] 225%F x f{lER 3 (= W )13

20 1] 7569% % A1 (p

6[ 2]4655H 1 A &

(18%8] ( -42 m)

10 2] 212848 B R 1 ORI 228013,
A= FEFE 2 CRER IR ILH)13.
30 4] 407/ Ak HEFF2 CGE 6 3K )13
RE PH )13
2 BrBELET)14.
SN W A BT 2 RO L ) 14,
6 M ZA3 R & )ik
®3 G T RIG

2[ 8]

40 1] ST AR & 2 (Bk
5[ 3] 462 3 40 %
6 7]
7[ 6]

[ 5] 14236 K

(2048] ¢  -6.1 m)

1[0 4] 5067k~ 95 Kk 3 (Jil = 50 13.
R 2 (B4 RS 1) 13.
/NGB 13
i 2F 2 (RN 14,
V2 (RAEET-5%) 14,
B2 G g )14
1R K P14

S 3 GRARILAR L) 14,

2[ 7] M4 %
3[ 1] 759 Ak
4[ 5] 1077 g
5[ 2] 321t M
6 8] 13285 K
70 6] 505% H
8[ 3] 1| &

AR 2 (f

)12,
(G E Rt - 5 ) 12,
31 514665/ £ KA 2 (TEwkfioks-fiE) 12,
)12,
% 3 (E%/f%””f%tlﬂﬂz
7k 2 G JE "3,
S/NERH) 3.
8L 71 A114l % oA 2 (& £ FLvE )13,

K?'E}\S (#B| = q)18.

T3 (P9 i SCEE ) 13
J%KZ (AR5 %) 13.
Kzg2e (Fr R $)14.
KE2 GO JE DY ) 14,
b2 CGE AR R )14,
) Ri5
HEES (7 W ) RG

19
91
92
93
97
05
09
11

21
80
98
22
24
64

25
28
37
38
47
49
58
65

49
55
65
95
21
48
89

16
81
95
14
59
13
88
96



(21#8] (-5

10 2] 51844

3[ 3] 473 #¢
41 7] 551F K
5[ 1] 33311 &
6[ 8] 322k &
70 5] 105{J ji%
8[ 6] 372+t
(23%#H] (  -5.
1[ 8] 158% &
2[ 6] 1034 1]
3[ 1] 26/

41 3]2708E5

5071 8& %

7 m)

o) B2 CRELT-5E)13.
20 411233/ f&%  J& 1 Cor fE — )13
M2 By BELRT)13.
st 2 (8 + RRMT) 13.
—42 (k1 B/ H)13.
gz 2 (BRI A= H)13.
WE2 (&t RE %) 14

Bk 2 (] B = )14
8 m)
wR2 & — )13

% M2 (FrifvhFET) 14
o2 GE AR )14
th B 2 Cor PRI =) 14
M2 O W )14

48
95
62
62
14
817
15
24

88
.04
.07
.40
.54

6[ 5]2707/)N Ak 4B K 2 CHr MM =) 14. 85
704] 130k 0 =582 C&Fr . H)15.80
[ 212188 W ®wHE2 G Fe — ) x5

[25#8]) ( -4.9 m)

10 2] 168K #EA2 (] & — H4)13
2[ 8] 2063 H PR A1 CFF M — H)14
3[ 711228/~ & F 1 CGEF HE . )14
40 1] 3794 HE &2 (B &2 = H)14
5[ 6] 40511 % % =4 3 CGE 4% W )14

6[ 5] 638 K
10 4] 47448
8[ 3] 241 I%

(27#8) ( -4
10 4] 169%K IKF
2[ 2] 508Kk N
3[ 6] 1014 F
41 1] 4157 F
5[ 7] 4183 7
6[ 5] 104778
70 3] 6303 ¢
[ 8] 47011 A&
(29%8] ( -2
10 4] 511 0
20 6] 475% #
3[ 8] 219JI X
47 1] 112/ |
5[ 3] 503)I| ¥
6[ 7] 778 O
70 2] 152)11 B
8[ 5] 3@iH

a2 (N ) 14

k—2 BrRELRT) 14,
A H)1S.

—R2GE
5 m)

b5 21 3 CAR] LgRR ) 13.
=k 3 (= ) 13.
£ 2 (8 LR EH) 14,
B2 Gor EE Y )18,
ZRK 2 Gor & Y )15,
AR 6 O & Fe #)15.

% K6 (REBELRE ) 775%) 16
fie =F 3 (BrBELRA) R
8 m)

5 = 2 GF =013
BR2 BrEELRT)14
— L R ) 14
f& KM (R —F » X)15
AF1 R K H)15
iK1 (D= /hEE ) 15
— IR 1 (PN EE) 15
— ¥k 1 Cor JE B2 %) 15

.92
.18
.29
.4
.56
.57
83
08

15
92
69
16
25
33
.1
5

.96
.57
.63
.01
. 26
.21
.29
.45

(2248] (

1[ 6]
21 1]
3[ 7]
4 5]
5[ 2]
6 8]
70 4]
8[ 3]

(2478] (

1[ 5]
2[ 7]
3L 4]
41 2]
5[ 8]
6 3]
11 6]

[ 1]

(2648] (

1[ 5]
2[ 7]
3[ 8]
41 6]
5[ 4]
6[ 1]
70 3]

[ 2]

(28#8] (

1[ 5]
2[ 1]
3[ 8]
41 6]
5[ 2]
6 4]
70 7]

[ 3]

(3048] (

1[ 5]
2[ 4]
3[ 7]
41 3]
5[ 2]
6[ 6]
70 1]

[ 8]

6.2 m)

811 /3 (= JF ® +#)13.69
60242 T SCHk 2 CErEEoN-Hr£)14.02
4367 2 AR FH 1 (E R pEH) 14,56
405 & F N3 CGBr K& U H)14. 81
2237C e 7 M3 (= W H ) 14,83
616427 KBI3 (7 W H1)14.96
4221 i REAE 1 (& R pEH) 15,03
257 WL B2 (R b B o) 15. 21

-1.7 m)

188/ w3 (B LRH9)14.05
MefE & w2 (8 LR HH)14.12
470 HZARIK 2 (R R 55 U A1) 14. 36
1611 ik RI& 1 (BH7R/NEEH) 14,43
313A )1 #E2 (B8R = H)14.60
5704 % A 2 (B LRMEH)14. 71
510% B 31 CFr & [ 1#)15.76
2100 1 BE = 2 (R +NF- R Ri5
5.4 m)

503 & 223 (g -5E)13. 58
233E AR 2 3 (F # b F) 1411
4045 H £ K3 GE B H H)14.44
844a & PR3 (P SCPEH) 14. 64
34K JRZF2 (B 1L m H)14. 88
601N (L #7 2 CHrER-#HrE)14.92
1724 )1 B A 2 (8% - S5 ) 15. 66
818[A 7 5 il 2 (V5 o SCHE A) RIS
5.0 m)

19585 K {fi k2 (EAII -5 %) 14. 32
13 K A2 7 H)14.95
16135 M e Bk 2 (EAIEH-%%) 15. 01
183%# 2 K2 3 (§ £ & )15.02
5% EH3 (E K H)15.06
4324 W FE A 2 CGFr EE Y A1) 15.08
1078 kK2 (7 H H)15.09
62 F 1+ Bk 2 O\ & [ ) R35
-5.8 m)

201 V8 22 KB 1 CRIB 2 4%) 15. 16
1013 4 4 2 (FriR/hFHEH) 15. 54
20 FHEA2GE K H)15.90
108/ #k BB K2 (& £ L& H)15.92
NER B2 07 H H)16.09
2243] & L B0 (RRELRR) 77+55) 16. 26
508f& A FE st 2 (B A8 ¥ ) 16. 84
20406 o FR 1 G )RG5



[3148] ( -6.4 m)
10 7] 228%5 K &) E 1 (R4EF #42) 15. 41
2[ 4] 122 RI&EK3 (E A H1)15.65
3[ 6] 2027 Hfd—H 1 (OR4B H 2#4%) 15. 88
40 3] 221&H A& F ik 2 ORI #4%)16.18
S50 2] 1121 K% &6 Cor K ke #)16. 34
6[ 5] 19678 4 18 3F 2 (AR EERRH)16.38
70 8] 18R HE 75 Cir FE b ) 16.73
[ 1] 424F +j& 2 G FE 10 o) Rig

[33%8) (  -5.9 m)
10 2] M19% PN ¥R A7 2 Cor J& U ) 14.58
2[ 5] 202{: 4 KER 1 Gor 2 — ") 14.76
3[ 3] 226K % 5 kN6 (REBELE)77-55) 15. 88
40 8] M3I/NFHRHEKZE 2 (B L+ A& H)16.22
5[ 6] 2200 M FH &k 1 ORHE 224%) 16. 44
6[ 4112139 R = B 6 Cor JE [ 1) 16. 68
70 11 100# B A 7k 2 (& + 7& ) 17. 02
[ 7] 42505 W U2 GEF U o) RiB
[354H] ( 5.7 m)
107] 33 H — BE5 (VOLVERZ -3 15. 14
2[ 6] 109faA/NRES 2 (& + /& ) 15. 64
3[ 4] 115%n H 5 (R — 3 » X)16. 88
4 8] 5294  1E b5 Cr & B ) 17. 11
5[ 3] 4264a 1 B2 % 2 Cor FE U H1)17.29
6[ 511008%8 M % & 4 Gor FE [ 1) 17.58
T 1] 518Kk Ae M & 2 (EE = -Hu0)17.73
8[ 2] M6{ BFiO 5 A (R — % » X)18.17

D AN
e 3

14039 K% ¥4 (G2 K- =50 11.42
2 4651 h W By vE 3 (fEWefE%m -5 E) 11,54
3 228 Ak HERR 2 GRFERZH-TH)11.78
4 ABA3 A ML GRRER RSN 30 11. 87
5 2354k 5L A1 GUERZH-@ER)11.92
6 1117 A% K22 (F-17/bACRH) 11.92
7467487 A [ =f 2 (BN 5E)11.95
8 4090 % & 2 5z K)11.96

BZ 200m R4
[1#H] ( -5.3 m)
10513075 [ M2 £ K)22.79
20 3] M6k H K3 (BKE-#HE)23. 44
3[ 6]25525 M FR4 (B2 == [t K)23.69
4[ 2]2413FH W 5 R 2 O KRF-FI) 23. 82
50 7] 1182 32 K 3 (R K[E-#HE)24. 51
6 1] 5011 A &ER 3 (AKX HE 78 ) 25.22
70 8] 4E K £ 5 3 (R 25.57
[ 41255045 H K& 4 (B2 22 P R)RIB

[

D WO OoOHWOo oo

(32#8)] (6.4 m)

10 7]1229°2 H©
2[ 4] 8/ M
3[ 6] 6334k %
4[ 3] 229uE H
5[0 11 114)1] %
6[ 5] 50947 J
70 2] 5144k %
8[ 8] 311 & JI|

FERE 1 G - H1) 15,
W E 6 CFr [ ) 15.
K HiUNS (REBELRE) 7745%) 15.
Fh A 1 ORSE 22 4%) 16,
AN (R —F v X)16.
— = 2 (JEW =500 16.
oA 2 (=0 16.
a2 B = f)I16.

(34#8] (6.5 m)

108] 18
2[ 6] 3275 )1

41 7] 5134 It
5[ 4] 23k [
6[ 3] 212 K
70 1] 104% ¢

[ 5] 230+ )11

10 2] 313k

30 6] 3004 R

fruke Cor J B #)15.
Bl — 6 (VOLVERZ -4 15.
3[ 211865 JII K ER 5 (TEAMAH 4E) 16.
B 2 (Fl=H 00 16.
2 (B OK H)16.
B K6 Cor e B 1.
BEH 2 (F L REH)17.

41
65
88
18
34
38
49
13

15
98
o/
69
94
09
20

BE A6 (RESIE 7755) R 15
[3648]) ( -8.2 m)

&2 GBr = H)13.
2[ 3] 3057 M A B 3 Cr JiE
=3 G = )13,

= )13

35
92
89

40 5] 10X E JemE2 (B L RA59)17.29
S5C 4] MTIRUA=2AF 173 (R — % » ) 1777

(2#8] ( -4.2

m)

10 5] 1154 % 4 & 2 (R K[ R E)23. 81
2[ 414089t (i 411 3% 2 (52 K - 3 5%) 24. 05

3[ 2112364 +
41 81192585 K
5[ 7] 169{F i
6 11405575 Ff
[ 3]4875/L 1
[ 6]4862% F

Wi (A. I. R)24.
g R2 B E K24
stk 3 Olp EF AR 25.
&4 (37 K - F ) 30.

30
61
48
15

RT3 OFIE -7 F) Rig
FL AR 1 (1L - 5 ) Rig



[3%8] ( -4.8 m)
101 3% | %307 W H)24.40
2[ 41467511 S FEHE 2 (EfEF e 5 E) 24. 59
3[ 8] 115/l JE i 3 (FTiR/NFH5H) 24. 93
A[ 5119501 H 4  (SWEEREMA)24.95
50 7] 409H 4 &3 Cor & U 1) 25.39
6[ 2111705 51 & th 2 (IO L& AH)25. 48
[ 3] 205fE 48 H A2 GO e — )R
[ 6]12120W W Fo st 2 G & — ) Ri5
(5#] (  -7.7 m)
108] 1294 # ¥ 3 (FryUhFfd)27. 49
2[ 7] 26/ FEE 3 (B 1L ) 28.17
3[ 2] TihA #% =3 GE A )28.68
[ 311226#4F 2 Chr B )RG5
[ 4112241k F& Y62 G 2 — ) RIG
[ 5] 23R AR 2 G — H)REG
[ 6]1228/)s #& ‘&1 G — H)REG
[748] ( -8.7 m)
10 7] 4010 &  f£3 (& & R H)27.63
2[ 3] 519% = M4 3 (EE =50 30. 01
3[ 6] B e GOk - w) 31. 29
AL 4] 24 F RE3F2 kK~  H1)32.59
[ 8] 20672 M ¥ A1 Gir e — ) x5
[ 5] 634 Il K2 (F+RAKR RS

D AN
e 3

13075 fif] M2 (B £ K)22.79 -
2 16 R%A ER3 (RAF-BE)23.44 -
32652 ) M w4 (B2 % P R)23.69 -
4 N545H &2 (RRFE-HE)23.81 -
524135 H H R 2 (KRS -%)1)23.82 -
6 4089 1 11 4H K 2 (2 K- W 50)24.05 -
712364 + # (A. I. R)24.30 -

8 3% K305 W H)24.40 -4

BF¥ 400m R GHE)
(148]
10 17467010 Ir AR A 2 (ERE%E-#%E)51. 35
2[ 4130344 H B K (B £ R #)52.47
3[ 6] 15467k I #hth 4 (85 fi = K)52.57
A7 2]J1207)\ A K Fn (b— h846-55%) 53. 31
5[ 5]2422%f (L1 fad &k 2 OffE KT H51)53.70
6[ 715859548 v 2 2 (W= hxAK HH) 54.10
[ 3] 189/ M #h A 3 CRIEK -5 F) Ri5H
[ 8] 32635 H &k OMINTEER-%%) Ri5
[3#8]
10 41308375 k& (% KR -5%E)55. 46
2[ 5] 204F 58 RXHES (B #k b A1) 57.31
3[ 3] 37811 M M2 B BB = 1)57.52

S Ao o1 OO

40 7] SA3MGEM AR, 2 (& KX #)1:00. 30
5[ 2] 1304 B 9t X 3 (FrivVhF451H7)1:00. 66
6[ 8] 8I3FE I8 3 (= JF H #)1:01.75

[ 6] 303)Il 0 3 £ 3 (RARERED &) RiF

[448] ( -6.5 m)

10 4] 812tk Fsk2 (= 95 H #)26.10

20 5] M7 F Fe4 2 (RKE-#E)26.32

3[ 8] 172:x ik it *F 3 (EMIMIH-5%%E) 26. 37
[ 2]12341E W] — ¥R 1 CBr 2 — o) Ri5
[ 3112057 i A 2 (Br 2 — ) Ri5
[ 6]2223% M BEKG 3 (Fn ¢t &) KI5
[ 7148768 F¢ 1§ B 3 (BILE-HE) Ri5

(6%8] (  -4.3 m)

1[0 5] 1605 B # Ja 2 (RIIET-5%)27. 41

20 6] M9 M HE— 1A 3 Ul & ) 27. 75

3[ 3] 504fh i &1 Kk X )28.30

41 411386 o fLax2 O & t11)29.18
[ 711233 #& AL 1 G 2 — o) Rig
[ 8] 204fk 1 FofH 1 Cor 2 — ) RiG

(2#8]

10 3] 7063 & il B2 (FAVT 47 24%)54. 37
2[ 6]3560F I K222 (FEia-5&E)b54. 55
3[ 2]36557% A iih 3 (BLfim-5E)54. 69
41 7]2459% M 5L (B & B2 #)55.19
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